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Frdsr : () |t Wl Fowa sy
Instructions : All questions are compulsory.
(i) T HEE 19 8 7% AfraEedd v | v T W 1 siw amifea ¥
Question Nos. 1 to 8 are very short answer type questions. Each
question carries 1 mark. _ ;
(iif) W %% 9 ¥ 12 9% ARG 31 ¥ | 7OF T W 3 3w smifen &
(I F} sAferchem - so g ¥)
Question Nos. 9 to 12 are short angwer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)
(iv) ¥ i 13 § 18 7% Avizwig vA €y v o srinfiw fawea €
TEF T W 4 3% srafea § | (I H Ay v-w s ¥)
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)
(v) TEwEE 19 ¥ 24 7% < v ¥ vl v F atafe fawea §

T&F T W 6 3 AEtea €)1 (IW A aifvmam weg-wmn 250 W7 ¥)
Question Nos. 19 to 24 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. (Maximum word-
limit of answer is 250 words)

NM-37 A

P.T.0.



[2]
wF-1  fifeR aegd s € 2 [1]

What are Giffen Goods?

Wed-2 M1 a 9ie) & R R SR 1 3SR R ? [1]
Which type of market is gold and silver market?

-3 fewam e ? [1]
What is optional money?

UPH-4 WA 6 FEd A HA-W R ? (1]

Which is the central bank of India? ‘
Wy-5 mm%awmi ' [1]

Give two examples of direct tax.

wei-6  agfom awie R e ¥ 2 [1]
What is balanced budget?
WyA-7 AR HgeH & F1 A R ? [1]

What is meant by balance of trade?

w-8 o fafrm R s ¥ ? (1]

What is floating exchange rate?

-9 T SR | 1 A9 ¥ 7 39em g7 fafe) [2+1=3]

What is total production? Write its formula.

qvr-10  31qof Wit =it i fardraend fafie | [1+1+1=3]

Write three characteristics of imperfect competition.

wyd-11  oTcafve | Td s Jin § i fafag (9 @) [1+1+1=3]
Write the difference between excessive demand and deficit demand
(any three).

wg-12 i SN TRt T I=a YAt ¥ ges 9 e S 3]

Explain the relations of marginal consumption trend and saving trend.
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e -13

wi-14

T 1-15

we-16

[3]
=ify ud Wit stfara it areafs Fofan « we s o [2+2=4)
Explain the mutual dependence of micro- and macro-economics.

T

OR

aRafaw YA TE SeuieT e § R W fig (i
) | [1+1+1+1=4]

Explain the difference between real economics and ideal economics
(any four).

S feer orma ook S feaan ¥ 2 9 Y ) Raard? [2+2=4]
How does the average fixed cost curve look like? Why does it look
like this?
arerqT
OR
Aefamrei Waia ara o ofwa or o W famd €2 [4]

How do long marginal cost and average cost curves look like?

foret arefegasen #f waa it =04, U9 HRH A F TOE F gl
¥ 2 =ren Q) [4]
Explain why all the last expenditure in an economy is equal to the

total factor payment.

reqar
OR

et Tw & Foam F Frluiw ¥ w9 F GHe OiE] SR St FO s
%! fafay

Write some limits of GDP as the co-ordinate of the welfare of a
country.

wwa o g gfd ot dfeus Ry d? [4]
What is the alternative definition of currency supply in India?
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W-17

¥1-18

w-19

Wer-20

4]

srerar
OR

=it dai F sy wrd fafeg (9 7)) | [1+1+1+1=4]

Write the modern work of Commercial Banks (any four).

7oz ! fadreensii = fafag (w e w0 [1+1+1+1=4]
Write the features of the budget (any four).

rear
OR

TET a9 # EvEsEy | e ¥ (3 W ?

Why government budget is required (any four)?

yrar 3w # srdger A 3 w6 F I fafee (9 w0 ) [1+1+1+1=4]
Write measures to correct the imbalance in the balance of
payments (any four).

rerar
OR

g Pafrrg o & o o o S (I w0 |

Argue in favour of stabie exchange rate (any four).

AT A ® wiay srem @il [6]

Explain the indifference curve with diagram.

ear
OR

Tt I FY AT 20 T, W WGH 40 T O weh ¢, Ty we srqfaffa
et ¢, A wwe v A = fadr e k2

If the income of the consumer increases from Rs. 20 to Rs. 40 but the’

price remains unchanged, then what changes are there in the budget line?

R ufad S 9 Tl H s witwg (W o) | [6]
Explain the clements affecting demand (any six).

NM-37A



wi-21

U¥i-22

ae1-23

[S]

arerar
OR

Hin & frm @] €9 & il wt e St (R BY) |

Explain the reasons why the rules of demand applied (any six).

I N wwife F0O I T 9 fafae (R ) | [6]
Write the ¢lements affecting supply (any six).

Jrerar
OR
e w2 @ S ¥ 2 [2+4=6]

What does elasticity of supply mean? How is it measured?

=1 B0 9t A # wafea gen d—
(37 Wmﬁ \?v'lﬁﬁm';
(9) AgER HA Y HH? | [3+3=6]

What happens when the prevailing price in the market is—
(a) greater than equilibrium price;
(b) less than equilibrium price?

srerar
OR

A e Td A9R g6 § i e Aifsg (9 3) | [6]

Explain the difference between normal price and market price
(any six).

#HI-9 ¥ oK fagia &t sreread fafae (¢ 50) 1 [6]

Write critiques of Keynes’s employmerit theory (any six).

arerar
OR

Frafias |in % R fafae (F18 80)

Write the causes of excessive demand (any six).
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uy-24 freifee sifegi @ dafse o sl dafms Wy ema =t oM

[6]

i :

s
(i) I AT R e WY IR
(i) foewi @ Wi fae s o
(iif) faafia ey
(iv) Frm =z
(v) UER g’ W =S
(vi) OfaRl g e fofan s =
(vii) Iaqo 3™
(viii) Jafa® T

Based on the following information, calculate Personal Income and

Disposable Income :
Items
(/) Net domestic product on factor cost
(ii) External secured net factor income
(#f) Undistributed profit
(/v) Corporation tax
(v) Interest received by families
(vi) Interest paid by families
(vii) Transfer income

(viii) Personal tax

T (FATH)

8,000

200

1,000

500

1,500

1,200
300

500

Rs. (in Crore)

8,000
200
1,000
500
1,500
1,200
300

500

[3+3=6]
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[7]

arerar
OR
freifera siteel & = fafy gro g oma it A wifg ;. (6]
wg TR (FFH)
() AT "L - 4,000
iy Teom - 700
(iif) @™ ~ 1,300
(iv) == - 500
(v) SuHm =g - 4,000
(vi) e g fafrm - 1,500
(vii) O Taeh fafwdm - 1,000

Based on the following information, calculate National Income by

expenditure method :

Items Rs. (in Crore)
(i)_ Salaries and wages — 4,000
(i) Rent - 700
(iff) Profit - 1,300
(iv) Interest - 500
(v) Consumption expenditure  — 4,000
(vi) Gross domestic investment — 1,500
(vii) Net foreign investment - 1,000

NM-37A

52,000



